
5.37

Desk-top cases – Y / -air

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Order Information

Note
� Please order fixing material for assembly of mounting plate 

separately
� A guide rail can be mounted on the first and last slot position
� 4.4" and "reinforced" guide rails cannot be used 

Mounting plates

Mounting plate Assembly strip for 
partial widths

bpa45875 bpa46557

06812002

Al, 1.5 mm; for mounting over partial 
width, please order assembly strips 

separately

St, 2 mm, zinc-plated; is bolted from 
front to rear onto the horizontal rails; 

to fix mounting plates

Width Board lengths
HP mm mm 1 piece 1 piece
28 146.88 160 34562-745 30840-021
28 146.88 220 34562-749 30840-033
28 146.88 280 34562-753 30840-045
28 146.88 340 34562-757 30840-057
42 217.99 160 34562-746 30840-021
42 217.99 220 34562-750 30840-033
42 217.99 280 34562-754 30840-045
42 217.99 340 34562-758 30840-057
63 324.67 160 34562-747 30840-021
63 324.67 220 34562-751 30840-033
63 324.67 280 34562-755 30840-045
63 324.67 340 34562-759 30840-057
84 431.35 160 34562-748 30840-021
84 431.35 220 34562-752 30840-033
84 431.35 280 34562-756 30840-045
84 431.35 340 34562-760 30840-057
Assembly kit for mounting plate
PU 1 kit (Torx countersunk screw M4 x 5, St, zinc-
plated, 12 pieces; screw M4 x 6, St, zinc-plated, 
10 pieces; M4 square nut, St, zinc-plated, 
10 pieces)

24560-184 –

Assembly kit for assembly strips of mounting 
plate
Torx screw
M2.5 × 5, St, zinc-plated, PU 100 pieces

– 24560-146

5_1_ratiopacPRO_e.fm  Seite 37  Montag, 17. September 2012  7:04 19




